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QUESTION 1

The validate_password plugin is loaded and displays the following settings in global variables: Mysql> SHOW
VARIABLES LIKE `validate_password%\\'; 

When attempting to set your password, you get the following error: 

Mysql> SET PASSWORD = PASSWORD (`Hoverl@%\\'); 

ERROR 1819 (HY000): Your password does not satisfy the current policy requirements 

What is the cause of the error? 

A. The password is eight characters long, but needs to exceed validate_password_length to be valid. 

B. All of the MEDIUM password policy requirements have not been honored. 

C. The password matches a substring Hover as a dictionary word. 

D. The password does not match the validate_passoword_number_count requirement. 

E. There is no dictionary file defined, so password validation cannot work as expected. 

Correct Answer: B 

 

QUESTION 2

The InnoDB engine has a feature known as clustered indexes. 

Which three statements are true about clustered indexes as used in InnoDB? 

A. A primary key must exist for creation of a clustered index. 

B. A primary key is used as a clustered index. 

C. A clustered index is a grouping of indexes from different tables into a global index for faster searching. 

D. If no indexes exist, a hidden clustered index is generated based on row IDs. 

E. A clustered index provides direct access to a page containing row data. 
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F. The first unique index is always used as a clustered index and not a primary key. 

G. A clustered index allows fulltext searching within InnoDB, 

Correct Answer: BDG 

 

QUESTION 3

You are using replication and the binary log files on your master server consume a lot of disk space. Which two steps
should you perform to safely remove some of the older binary log files? 

A. Ensure that none of the attached slaves are using any of the binary logs you want to delete. 

B. Use the command PURGE BINARY LOGS and specify a binary log file name or a date and time to remove unused
files. 

C. Execute the PURGE BINARY LOGE NOT USED command. 

D. Remove all of the binary log files that have a modification date earlier than today. 

E. Edit the .index file to remove the files you want to delete. 

Correct Answer: BD 

 

QUESTION 4

Consider the following: Mysql> EXPLAIN SELECT * FROM City WHERE Name = `Jacksonville\\' AND CountryCode =
`USA\\' \G ******************************** 1. row ******************************** Id: 1 Select_type: SIMPLE Table: City Type:
ref Possible_keys: name_country_index Key: name_country_index Ref: const, const Rows: 1 Extra: Using where 

Which statement best describes the meaning of the value for the key_len column? 

A. It shows the total size of the index row. 

B. It shows how many columns in the index are examined. 

C. It shows the number of characters indexed in the key. 

D. It shows how many bytes will be used from each index row. 

Correct Answer: C 

 

QUESTION 5

Which statement is true about using Microsoft Windows Cluster as a platform for Mysql? 

A. It is provided by means of IP- level disk replication. 

B. It is shared-nothing architecture. 

C. It implements High Availability by using the .NET Connector\\'s load balancing capabilities. 
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D. It relies on the shared disk architecture being visible to both servers. 

Correct Answer: D 
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